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N L1
Bu: MY AR
CHel Bae M s (el @)
SA - BB B () - MM - BES Ol &t o San HmEET
RAZHEE 2HAY 122,850 122,850 0
308 AHAIEHHSOIA 122,850 122,850 0
01 HXNHHBHELS 122,850 122,850 0
ORsez sdz3FME N 94,500
OdsgH(==20) 28,350
stuesaga 2,216,359 2,216,359 0
J| 1,846,966
< 369,393
308 XtXIEHH SOl A 2,216,359 2,216,359 0
J| 1,846,966
< 369,393
01 X HHILEES 2,216,359 2,216,359 0
OgtnesaA 2,216,359
J| 1,846,966
< 369,393
=T EE 200,000 150,000 50,000
308 X EHHSOIA 200,000 150,000 50,000
01 HIXNHHNBMNEES 200,000 150,000 50,000
ON=EToHEE 200,000
SMAE S ALY 1,953,000 1,422,375 530,625
J| 1,953,000
403 XSS A0l & 1,953,000 1,422,375 530,625
J| 1,953,000
01 *XSHMA=2EE 1,953,000 1,422,375 530,625
OSAAIE ElUst 1,953,000
J| 1,953,000
ETYE E2H 85 - 23 94,111 138,708 A 44 597
J| 72,393
= 21,718
308 XtXIEHH SOl A 94,111 138,708 A 44 597
J| 72,393
< 21,718
01 AXHHILEES 94,111 138,708 AN 44,597
OESYE B2 22232 94,111
J| 72,393
< 21,718
asay =4 325,000 325,000 0
308 A EHHSOIA 235,000 235,000 0
01 HXNHHNBMNEELS 235,000 235,000 0
ox=sstzAz 22 165,000
O=Y gZ¥(gs .42 8) = 70,000
403 A X EHHS 20l A 90,000 90,000 0




2N
X ZH -
L= B

el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 90,000 90,000 0
O2LE Mits HMel&dl K& 90,000
=S ALY 90,000 90,000 0
308 XXM SOIA 90,000 90,000 0
01 AXHHBILEES 90,000 90,000 0
OLsE HA HYdIN =53 90,000
SAAE SEUS ALY 281,000 306,500 225,500
403 XM S =0l A 281,000 306,500 225,500
01 AXSHHMA2E = 281,000 306,500 A 25,500
ONESAZ(2AFE) SUst 113,000
OSMUER HRAaSAE £ 36,000
OZA2Jt= JI=8s HEAE XA 108,000
ogAa Ao E= 24,000
S&S SOt K& 37,500 0 37,500
403 MtXISHHE =01 & 37,500 0 37,500
01 XM A=2EE 37,500 0 37,500
O=& SItM 23 s& AIZEHA 37,500
SEMNESSIIES 21,000 0 21,000
403 MXISHEA=0l & 21,000 0 21,000
01 X SHHX2E = 21,000 0 21,000
OMs e3+=3 23S XI& 21,000
2o SEAMY 177,000 37,524 139,476
J| 150,000
< 27,000
308 XX EHH SOl A 177,000 37,524 139,476
J| 150,000
< 27,000
01 HXNHHNBHELS 177,000 37,524 139,476
Ostd s 0t & 177,000
J| 150,000
< 27,000
Asetd 2SS elAH 4 1,300,000 780,000 520,000
Xl 1,000,000
< 300,000
403 X SHH S0l & 1,300,000 780,000 520,000
Xl 1,000,000
< 300,000
01 X SHMA=2EE 1,300,000 780,000 520,000
OAts4Y ZA2dAH |4 1,300,000
Xl 1,000,000
< 300,000




N L1
Bu: MY AR
CHel Bae M s (el @)
SA - BB B () - MM - BES Ol &t o San HmEET
STEsIt E=AL 69,300 0 69,300
J| 69,300
308 AHAIEHHSOIA 69,300 0 69,300
J| 69,300
01 HXNHHBHELS 69,300 0 69,300
Of+=Z= sIIHESXE 69,300
J| 69,300
sS4 J|gr 24 7,659,640 6,284,453 1,375,187
J| 3,978,700
< 3,680,940
N=EEE ME™ANE 279,500 393,500 A 114,000
J| 279,500
403 XSS A=0l& 279,500 393,500 A 114,000
J| 279,500
01 X SHMA=2E X 279,500 393,500 A 114,000
OJ=25 MEX™AE 279,500
J| 279,500
dH RS 243 1,425,400 515,100 910,300
J| 1,017,000
< 408,400
308 XtXIEHHSOIA 313,400 326,400 A 13,000
J| 227,000
= 86,400
01 X HHILEES 313,400 326,400 213,000
OUHIMEX ItZEL LsH 3= 86,400
Oyl &zl K& 227,000
J| 227,000
403 MtXISHHE X201 & 1,112,000 188,700 923,300
J| 790,000
< 322,000
01 XM A=2EE 1,112,000 188,700 923,300
OMHIMEX &X 690,000
J| 460,000
< 230,000
O%Hl RSHdHEX XA 368,000
J| 276,000
< 92,000
OdHl =& BFI| 30,000
Jl| 30,000
Odbld=z 240| 24,000
J| 24,000
ISR 22 100,000 100,000 0
308 XX EHSOIA 100,000 100,000 0
B L EREES 100,000 100,000 0




N L1
HE: S0 BHOH
Sel: HBASN OB X4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ON=dzHM 32 100,000
A2 B S ALY 4,683,180 3,844,570 838,610
J| 2,682,200
< 2,000,980
308 XXM SOIA 4,103,153 3,348,520 754,633
J| 2,596,573
< 1,506,580
01 AXHHILEES 4,103,153 3,348,520 754,633
OMEZ=E SAH 999,600
J| 714,000
< 285,600
OAtLel X (g290l) M=t 2,924,720
J| 1,828,000
< 1,096,720
OHd 2EALEX WEXH 60,000
OXAE SE=24H XA 41,860
J| 32,200
< 9,660
O=gMg ZEN K& 54,600
OuXNMEIZM=sE =4 22,373
J| 22,373
403 MtXISHH S =0l & 580,027 496,050 83,977
J| 85,627
< 494,400
01 XM A=2E X 580,027 496,050 83,977
O=MZ BEHM ZHl 125,400
J| 66,000
< 59,400
OXAZE ==Zdl X& 387,000
OXANSM FSH 43 21,000
OXZAZ JI3AIE B2 27,000
OJIEx=X B 19,627
J| 19,627
SNMZLEFEXN BE= 15,360 13,440 1,920
308 XXM SO A 15,360 13,440 1,920
01 IXNHHBMNEES 15,360 13,440 1,920
O=sugdgddEERN 22 15,360
OHOSalolE CH= 480,000 600,000 A 120,000
308 MtXIEHSOIH 480,000 600,000 A 120,000
01 XML EES 480,000 600,000 A120,000
OAMZEZS MAXA 480,000
dEd SisI |4 54,000 54,000 0
308 AHAIEHHSOIA 54,000 54,000 0




N L1
HE: S0 BHOH
Helr EIFL DI &4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 54,000 54,000 0
OzgIsYz U=t ®4 54,000
SAMAE EZME 622,200 523,200 99,000
308 XXM SOIA 43,200 43,200 0
01 AXHHBILEES 43,200 43,200 0
OJIsEMHMN 018 ==3& &4 43,200
403 A X EHHS =0l A 579,000 480,000 99,000
01 X EHHMA=LE L 579,000 480,000 99,000
OrEIF4H ALTH EF 390,000
ONs2aHMdel AJNEZDL B 90,000
OBME & == MAAAL X2 99,000
et g sl A 7RSJIE 23S 2,825,188 2,510,786 314,402
2 25,600
J| 1,635,868
& 1,163,720
Si=E RSIIE &5 117,000 136,000 A 19,000
307 gl2tol & 97,000 127,000 230,000
02 IZtA M AHE L 30,000 60,000 /30,000
OZXAL SEOE S22 ZEW X2 30,000
04 QIZFHALAIH B = 67,000 67,000 0
OUE = S4E EHE HAEZ A 27,000
OS=E SUEEHE FANEE 40,000
403 MtXISHHES A0l & 20,000 9,000 11,000
01 HXSHMA=2E X 20,000 9,000 11,000
OS=EHE I3 AHNS AL X 20,000
E=ZAA 2lA8l XA 2,016,000 1,612,000 404,000
J| 1,209,600
< 806,400
307 21201 A 2,016,000 1,612,000 404,000
J| 1,209,600
< 806,400
02 LB AAFEX 2,016,000 1,612,000 404,000
OE=Z A& o1Addl K& 2,016,000
J| 1,209,600
S 806,400
E LB E X S X2 (HACCP) At 70,560 141,120 AT70,560
J| 57,600
< 12,960
308 A EHHSOIA 70,560 141,120 AT70,560
J| 57,600
< 12,960
01 HIXNHHNBHEELES 70,560 141,120 AT0,560




EXN: Fat
Bu: MY AR
Sl HHANAS U RSN HE CEEEED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
O MBS R & X2 (HACCP) A 70,560
J| 57,600
= 12,960
MIOI0IEHM(HESEH]) 479,268 465,586 13,682
J| 368,668
= 110,600
308 XHXIGHH SO0l & 479,268 465,586 13,682
J| 368,668
& 110,600
01 AIXISHHENEXZ 479,268 465,586 13,682
OADI| OlEH(HELEH]) 479,268
J| 368,668
& 110,600
SEMEAHNR2DS H2AS 111,000 111,000 0
201 et | 6,000 6,000 0]
01 AP 2t 2| H| 6,000 6,000 0
OFUEFN YA AMILR2 #Het H & 6,000
308 XHXIEH SO0l A 105,000 105,000 0
01 AIXISHHEMNEX= 105,000 105,000 0
QHAMNE A~ Heldlg X 105,000
LS HACCP A& E XA 31,360 45,080 N 13,720
= 25,600
= 5,760
308 XAXIGHHM SO0l & 31,360 45,080 N 13,720
= 25,600
= 5,760
01 AIXISHHENEXS 31,360 45,080 N 13,720
O=AtE HACCP ZHEE XIJAFY 31,360
= 25,600
& 5,760
s e YA 11,751,116 11,157,902 593,214
= 8,550,511
J| 975,159
& 2,225,446
22 AL S 5,415,285 3,724,373 1,690,912
= 5,050,511
o= 364,774
308 AMXISHMSOIA 4,619,325 3,684,373 934,952
= 4,459,111
=} 160,214
01 AIXSHMEMNEX=Z 4,619,325 3,684,373 934,952
OFMXE SEMH 29 148,262
= 114,048
& 34,214




K- B S (3H) - MBAY - B il HDE2

OZHSY HLES Al=Hl 526,500
= 405,000
= 121,500
OFME HAEE 25 86,790
= 86,790
OJI=Weg=At £ Jd8s 2N 3,258,183
= 3,258,183
O EF4etE MHESE 195,090
= 195,090
OYXAR2HEE NZXS ALY 30,000
= 30,000
OOHE2 X AtZ= 22| 205,000
= 205,000
OJsgd I &3 19,500
= 15,000
& 4,500
OJ2=sIt 2g2el X 150,000
= 150,000

403 XtXISHH S K201 795,960 40,000 755,960
=2 591,400
= 204,560

01 HXHNMAHEE = 795,960 40,000 755,960
OJsegaxte X3 15,000
= 15,000
OHEAMEHE - A2SsSAIE &X 680,960
2 486,400
T 194,560
OLsKHe 40,000
= 40,000
OEEZ AEAS)|(AY) 60,000
= 50,000
T 10,000

SAMYARA=2E N3 725,000 595,000 130,000
bl 435,000
= 290,000

307 QI2t0| ™ 725,000 595,000 130,000
Dl 435,000
& 290,000

02 DI2HE MAIEE X 725,000 595,000 130,000
OJEsAMEANAZR 29 725,000
Dl 435,000
T 290,000

SAYHUZE - ASAIAE 2S5 595,739 582,809 12,930
Dl 540,159
< 55,580

308 AXISHXSOoIH 595,739 582,809 12,930
Dl 540,159




EXN: Fat
HE: S0 BHOH
Sl ISP ALY CERED
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 55,580
01 AIKISHHENEXZ 595,739 582,809 12,930
OS2 o1AHH| 333,480
Jl 277,900
o= 55,580
OZ2se8 Y 22| 262,259
J| 262,259
AHEEAZS 3,937,500 3,500,000 437,500
2 3,500,000
& 437,500
308 XX EHSOIA 3,937,500 3,500,000 437,500
2 3,500,000
& 437,500
01 AIKSHHEMNEX= 3,937,500 3,500,000 437,500
OaHdE 243 3,937,500
= 3,500,000
o= 437,500
MY 2o 296,200 626,200 A 330,000
201 et 4,600 4,600 0
01 AP 2t 2] H| 4,600 4,600 0
OJI=EedEE s M B3 3,000
OFHE, Al SEASARAE S 1,600
308 XHXIEHH S0l & 291,600 561,600 A 270,000
01 AIKISHHEBMNEXZ 291,600 561,600 A 270,000
OFME HLES LSHALE 291,600
AFOERAU I &A 104,612 0 104,612
308 AMXISHMSOIA 64,112 0 64,112
01 IXHHIMNEXZ 64,112 0 64,112
Ol Al oflgt Z&HiHzH 64,112
403 XX SHHS K20 & 40,500 0 40,500
01 XS AS2E X 40,500 0 40,500
OAl olg Bt AIE A 40,500
s )|Bt = 343,680 147,920 195,760
308 XX EHSOIA 283,680 147,920 135,760
01 AIKISHHEMNEX= 283,680 147,920 135,760
OALs2sE & 2 180,000
OZ2X9AI &t &8SX & 103,680
403 XX SHHS K20 & 60,000 0 60,000
01 XIS A2E X 60,000 0 60,000
O=s&&Ed R ANEAED| &R 60,000
FQ JtEdgy wA 281,100 281,100 0




2N
X ZH -
L= B

el

=L

AN

= g

Moz oz

0T 19 &
0!

= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
308 XXM SO0IH 281,100 281,100 0
01 XM BaE2ES 281,100 281,100 0
OSOtAl €AY ogHa 53 27,600
ORALHAMYN HAEE AS 36,000
ORa MG g =3 28,380
Og=z MEYE I 60,750
OSH H8Y HlTA 78,870
Ogs MEE A 49,500
SSAAZA 2,000 2,000 0
206 28l 2,000 2,000 0
01 M= Hl 2,000 2,000 0
Os=8 A%S +HlS 2,000
s= 5 - 21X 50,000 0 50,000
308 Xt &M S 01 H 50,000 0 50,000
01 HAHHZBEEES 50,000 0 50,000
Oss:2sdH 29 50,000
W20 gdst 14,991,500 10,871,168 4,120,332
2 1,408,500
Xl 7,639,000
= 5,944,000
W2 0g |4 14,991,500 10,871,168 4,120,332
2 1,408,500
Xl 7,639,000
S 5,944,000
W=g elsarerd &3 193,500 193,500 0
2 180,000
S 13,500
403 TR SHHSA=01H 193,500 193,500 0
2 180,000
< 13,500
01 MM =R x 193,500 193,500 0
OU=8 esaerd &X 193,500
= 180,000
S 13,500
USRS R 315,000 315,000 0
Xl 280,000
= 35,000
308 XXM SOl & 315,000 315,000 0
Al 280,000
= 35,000
01 AXESHHBHEXS 315,000 315,000 0
OSSR Y= 315,000
Xl 280,000




AN e

HEM: H4=HHYE 43
ool 40 oY SA (el @2)
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
| = 35,000
XS EA 35,000 35,000 0
Xl 28,000
== 7,000
308 NXIEHSOIA 35,000 0 35,000
Xl 28,000
= 7,000
10 BI| 2 SHCHSHE A A S A 35,000 0 35,000
OXHEFE S EA 35,000
N 28,000
& 7,000
SHAIMSE SRS ALY 53,650 78,300 AN 24,650
= 37,000
& 16,650
308 XAHXIGH SO0l & 53,650 78,300 A 24 650
= 37,000
& 16,650
01 AIKISHENEXZ 53,650 78,300 AN 24 650
ORAIASE ARG AIS 53,650
= 37,000
= 16,650
HZ PRl FEALD O & 27,000 27,000 0]
403 XX SRS K20 & 27,000 27,000 0
01 MXSHHXNEEE X 27,000 27,000 0
O Yol otEAFD gl JjetXx A 27,000
MR T4 Y 252 153,500 143,500 10,000
201 Bt 10,000 0 10,000
01 AP 22| H| 10,000 0 10,000
OSEHHY L 4= AKX EAl E22 HE 10,000
308 XHXIGHH SO0l & 143,500 143,500 0
01 AIKISHHENEXZ 143,500 143,500 0
OEZE=Ss0 S22 2 UMM 8= 60,000
OEZ0H&E XY g¢x XA 40,000
OWz=™H MEfH DSHHS 2AMAIE 30,000
OFEH 2HE 4 ALY 13,500
AN HEHYE 4 70,300 40,300 30,000
308 AHXIEHSOIA 49,300 19,300 30,000
01 AIXSHMENMNEX= 49,300 19,300 30,000
Ol =)l & HEBHZ 3,300
YA YO FMAE U FAFY B 16,000
OWz=™H AR & M 30,000
403 XX SHHS K20 & 21,000 21,000 0




AN e

FM: U=+=BH0Y 243
ool 40 oY SA (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 21,000 21,000 0
OU=9 2AX™ HAM Hioitidl Al FHl At 21,000
SAASAY HESHI ZLEAY 9,700,000 7,483,618 2,216,382
Xl 4,850,000
< 4,850,000
403 MtXISHHE X201 & 9,700,000 6,100,000 3,600,000
Xl 4,850,000
< 4,850,000
02 SO 2SH S E X HE AL B 9,700,000 6,100,000 3,600,000
Ot ASMANEHI L AL 9,700,000
Xl 4,850,000
S 4,850,000
W8 =d4TESFHY 2 5,800 8,700 22,900
= 4,000
< 1,800
308 MtXIEHSOIH 5,800 8,700 22,900
= 4,000
= 1,800
01 HXNHHBHEES 5,800 8,700 A 2,900
OU=2 =dTHIESFH 2l 5,800
= 4,000
= 1,800
=0 2QAICHT] A ALY 1,300,000 1,300,000 0
= 1,000,000
= 300,000
403 XSS A=0l& 1,300,000 1,300,000 0
= 1,000,000
< 300,000
01 X SHMA=2E X 1,300,000 1,300,000 0
OL48l SAER X4 A 1,300,000
= 1,000,000
< 300,000
=8 0T HES ALY 243,750 243,750 0
= 187,500
< 56,250
403 MHtXISHE X201 E 243,750 243,750 0
= 187,500
< 56,250
01 X SHHXN2E= 243,750 243,750 0
OuUl=8 & MHE=> At 243,750
= 187,500
= 56,250
Xgd 0l RetAl A 54 86,000 258,000 A 172,000
Xl 80,000
< 6,000




N L1
o 4S0{ 25
ool 40 oY SA CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
403 UHXSHHSA=0l& 86,000 258,000 A 172,000
X 80,000
< 6,000
01 X SHMA2E X 86,000 258,000 A 172,000
Ozl &d Ol Retkl LAz =4 86,000
Xl 80,000
< 6,000
SN2 AKX JIBAIE AHE 348,000 94,500 253,500
Xl 261,000
< 87,000
403 MtXISHHE X201 & 348,000 94,500 253,500
Xl 261,000
< 87,000
01 XM A=2EE 348,000 94,500 253,500
O=4&t32 &K IFBAIE £ 348,000
X 261,000
< 87,000
ZHE S Mok - AFAE &I 800,000 0 800,000
Xl 640,000
< 160,000
403 A X EHHS =0l A 800,000 0 800,000
Xl 640,000
< 160,000
02 S| 2SOl CHSHAt 2 X CH & AF I 800,000 0 800,000
OZHE S Mo - HAFAE £X 800,000
Xl 640,000
< 160,000
HEgd ESHT 52 =4 1,660,000 0 1,660,000
X 1,500,000
< 160,000
403 X SHHSA=0l& 1,660,000 0 1,660,000
X 1,500,000
< 160,000
01 X SHMA=2E X 1,660,000 0 1,660,000
OHMEE ES0HE S2H =4 1,660,000
Xl 1,500,000
< 160,000
HY I ZH (F4t) 63,817 56,840 6,977
Jl23l 63,817 56,840 6,977
Jl2&l 63,817 56,840 6,977
201 24l 18,627 17,740 887
01 At 22l 18,627 17,740 887
OJl2+=8Hl 7,602
OJles gl 11,025




SN F&0
o HISYAH (HLD)
e Jl=3l (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
202 o4 4 39,690 37,800 1,890
01 SLHOYI 39,690 37,800 1,890
OJ120dtl 39,690
405 AH&tE = HI 5,500 1,300 4,200
01 ML ESFHSH 5,500 1,300 4,200
OZ gDl 500
OFHS - Al S8 o&4 £X 5,000
- YEZZAH 2,000
===l ES) 1,000
=== PN} 500
-NRE2E 1,500




